Chapter 13 Budgetary System

Answer 1
(a)
Overhead costs for the 2010 budget:

Property cost = $120,000 x 1·05 = $126,000

Central wages = ($150,000 x 1·03) + $12,000 = $166,500

Stationery = $25,000 x 0·6 = $15,000
(b)

The road repair budget will be based on 2,200 metres of road repairs; it is common to include a contingency in case roads unexpectedly need repair (see part (c)).
The weather conditions could add an extra cost to the budget if poor or bad conditions exist. The adjustment needed is based on an expected value calculation:
(0·7 x 0%) + (0·1 x 10%) + (0·2 x 25%) = 6%

Hence the budget (after allowing for a 5% inflation adjustment) will be:

2,200 x $15,000 x 1·06 x 1·05 = $36,729,000

This could be shown as:

(2,200 x 15,000 x 1·0 x 0·7) + (2,200 x 15,000 x 1·1 x 0·1) + (2,200 x 15,000 x 1·25 x 0·2) = $34,980,000

The $34,980,000 could then be adjusted for inflation at 5% to give $36,729,000 as above.
(c)
An expected value calculation used in budgeting has the following problems associated with it:

· It is often difficult to estimate the probabilities associated with different (in this case) weather conditions. The weather in one year may not reflect the weather in the following year leading to wildly inaccurate estimates and hence budgeting errors.

· It is difficult to estimate the precise monetary value attaching to each of the outcomes. ‘Bad’ weather can presumably take many forms (extreme cold, heat or water); the effect of each of these could be difficult to assess. Whilst using expected values it is common to group the events together and have one probability estimate. This may prove inadequate or inaccurate.

· The expected value that is calculated might not reflect the true cost leading to over or under spends on budget.

· The managers will have an easy fallback position should the budgets turn out to be incorrect. It would probably be accepted that the weather (and hence the probability of it) is outside their control and over spends could not then be blamed on them.
A contingency is often added to a budget in the event that there is uncertainty on the likely spend. In this case there would be much uncertainty over the level and indeed type of road repairs required. Roads could be damaged by weather conditions (extreme cold or heat) or unexpected land movements (earthquakes). Public safety could be at risk meaning that a repair is essential. This could result in a higher spend.
Equally the type of repair needed would vary and be unpredictable. Small holes might be simply filled in but larger holes or cracks might involve repairs to the foundations of the road. The costs could differ considerably between the different types of repairs.
(d)
Zero based budgeting involves three main steps:

· Define decision packages. These are detailed descriptions of the activities to be carried out. There will be some standardisation within the data to allow comparison with other activities (costs, time taken and so on). A cost-benefit analysis is often carried out at this stage to ensure the most cost effective and beneficial approach to the activity is taken.

· Evaluation and ranking of activities. Each activity is assessed; those that are perhaps part of a legal obligation become ‘must do’ activities; others may be viewed as discretionary. The LGO will have to decide which of the activities offer the greatest value for money (VFM) or the greatest benefit for the lowest cost.

· Allocation of resource. The budget will then be created for the accepted activities.
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Answer 2
Incremental budgeting is a process whereby this year’s budget is set by reference to last year’s actual results after an adjustment for inflation and other incremental factors. It is commonly used because:
· It is quick to do and a relatively simple process.

· The information is readily available, so very limited quantitative analysis is needed.

· It is appropriate in some circumstances. For example, in a stable business, the amount of stationery spent in one year is unlikely to be significantly different in the next year, so taking the actual spend in year one and adding a little for inflation should be a reasonable target for the spend in the next year.
There are problems involved with incremental budgeting:

· It builds on wasteful spending. If the actual figures for this year include overspends caused by some form of error then the budget for the next year would potentially include this overspend again.

· It encourages organisations to spend up to the maximum allowed in the knowledge that if they don’t do this then they will not have as much to spend in the following year’s budget.

· Assessing the amount of the increment can be difficult.

· It is not appropriate in a rapidly changing business.

· Can ignore the true (activity based) drivers of a cost leading to poor budgeting.
Answer 3
Advantages of an incremental budgeting approach:

· Local government organisations are often complex and incremental budgeting will be seen as a simple approach to a budget that will take little effort.

· Budget processes can be long ones, however incremental approaches do tend to be quicker than most. Complex local government organisations can suffer from very long budget processes and incremental budgeting can alleviate this a little.
Disadvantages of incremental budgeting:

· Public bodies, such as local governments, will be encouraged to use up all of this year’s budget in order to ensure that next year’s budget will be as high as possible to give themselves the flexibility they need to do whatever is needed. The public services required can be unpredictable and so local government organisations prefer to be able to be flexible.

· Overspends made in this year will be budgeted for again next year, this is hardly giving taxpayers value for money.
Answer 4
(a)

Difficulties in the public sector

In the public sector, the objectives of the organisation are more difficult to define in a quantifiable way than the objectives of a private company. For example, a private company’s objectives may be to maximise profit. The meeting of this objective can then be set out in the budget by aiming for a percentage increase in sales and perhaps the cutting of various costs. If, on the other hand, the public sector organisation is a hospital, for example, then the objectives may be largely qualitative, such as ensuring that all outpatients are given an appointment within eight weeks of being referred to the hospital. This is difficult to define in a quantifiable way, and how it is actually achieved is even more difficult to define.
This leads onto the next reason why budgeting is so difficult in public sector organisations. Just as objectives are difficult to define quantifiably, so too are the organisation’s outputs. In a private company the output can be measured in terms of sales revenue. There is a direct relationship between the expenditure that needs to be incurred i.e. needs to be input in order to achieve the desired level of output. In a hospital, on the other hand, it is difficult to define a quantifiable relationship between inputs and outputs. What is more easy to compare is the relationship between how much cash is available for a particular area and how much cash is actually needed. Therefore, budgeting naturally focuses on inputs alone, rather than the relationship between inputs and outputs.
Finally, public sector organisations are always under pressure to show that they are offering good value for money, i.e. providing a service that is economical, efficient and effective. Therefore, they must achieve the desired results with the minimum use of resources. This, in itself, makes the budgeting process more difficult.
(b)

Incremental and zero-based budgeting

‘Incremental budgeting’ is the term used to describe the process whereby a budget is prepared using a previous period’s budget or actual performance as a base, with incremental amounts then being added for the new budget period.
‘Zero-based budgeting’, on the other hand, refers to a budgeting process which starts from a base of zero, with no reference being made to the prior period’s budget or performance. Every department function is reviewed comprehensively, with all expenditure requiring approval, rather than just the incremental expenditure requiring approval.
(c)
Stages in zero-based budgeting

Zero-based budgeting involves three main stages:

1.
Activities are identified by managers. These activities are then described in what is called a ‘decision package’. This decision package is prepared at the base level, representing the minimum level of service or support needed to achieve the organisation’s objectives. Further incremental packages may then be prepared to reflect a higher level of service or support.

2.
Management will then rank all the packages in the order of decreasing benefits to the organisation. This will help management decide what to spend and where to spend it.

3.
The resources are then allocated based on order of priority up to the spending level.
(d)
No longer a place for incremental budgeting

The view that there is no longer a place for incremental budgeting in any organisation is a rather extreme view. It is known for encouraging slack and wasteful spending, hence the comment that it is particularly unsuitable for public sector organisations, where cash cutbacks are being made. However, to say that there is no place for it at all is to ignore the drawbacks of zero-based budgeting. These should not be ignored as they can make ZBB implausible in some organizations or departments. They are as follows:
· Departmental managers will not have the skills necessary to construct decision packages. They will need training for this and training takes time and money.

· In a large organisation, the number of activities will be so large that the amount of paperwork generated from ZBB will be unmanageable.

· Ranking the packages can be difficult, since many activities cannot be compared on the basis of purely quantitative measures. Qualitative factors need to be incorporated but this is difficult.

· The process of identifying decision packages, determining their purpose, costs and benefits is massively time consuming and therefore costly.

· Since decisions are made at budget time, managers may feel unable to react to changes that occur during the year. This could have a detrimental effect on the business if it fails to react to emerging opportunities and threats.
It could be argued that ZBB is more suitable for public sector than for private sector organisations. This is because, firstly, it is far easier to put activities into decision packages in organisations which undertake set definable activities. Local government, for example, have set activities including the provision of housing, schools and local transport. Secondly, it is far more suited to costs that are discretionary in nature or for support activities. Such costs can be found mostly in not for profit organisations or the public sector, or in the service department of commercial operations.
Since ZBB requires all costs to be justified, it would seem inappropriate to use it for the entire budgeting process in a commercial organisation. Why take so much time and resources justifying costs that must be incurred in order to meet basic production needs? It makes no sense to use such a long-winded process for costs where no discretion can be exercised anyway. Incremental budgeting is, by its nature, quick and easy to do and easily understood. These factors should not be ignored.
In conclusion, whilst ZBB is more suited to public sector organisations, and is more likely to make cost savings in hard times such as these, its drawbacks should not be overlooked.
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